) s Notes 9-6 Narme:

*A directed segment representing a quantity that has both
magnitude and directions is called a \IQ&OY'

*Magnitude is another term for: lmﬁhi

*The _d\remﬂ of a vector is found by més'ur’iné

the angle that the vector forms with the positive x-axis or

any other _nQ[LZQ“"'d( Line

Ex. 1 There are two ways to write a

L] Vector. Label points R and T.

=
RT Where R is the \r\’v\a\ \)0\01‘

And T is the A¢ominal  point.

We could also usev.

A 2

The vector above is in standard position because its initial
point is at the o(\%\n

We can also use (ofMpon LEMVto describe our vector.

ﬁ=<x2—-xl,y2—y1>

N
What is the ('omponecd O  of the vector?
R( C ’ “ ) and T(S o % ) n— You got this!!
R=<5-0,3-0>




Ex. 1 continued

5

The direction of a vector is

that the vector forms with any positive

To find the magnitude of a
vector, use the distane 'ﬁ>rmum
or the PMorm Thm

Find the MAGNITUDE:
52 +3* =x*
134 =fx*

X= Jjng

&=
-

found by measuring the angle
Xaxis or

ony hodzontal line
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Find the DIRECTION:
2
tan @= &

O - -(:a_n"(%)
Bz 30'6)(0’ cound +o nearest

]

Example 2. Find the component form, the magnitude and the

direction of ST for S(-3,-2
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) and T(4,-7).
Component Form:

LY -6D),-T-

Magnitude:
XZ - 5% +7*

(‘g)) = 47) ¢5 >

e

2= 5%5-*‘f9
i v1040
. c % thC*VOG::
tan 9% 3 A on a0+ 904345

9= tan(3)

O:=54.5° = Sa-2



Example 3. Find the component form, the magnitude and the
direction of AB for A(1,-3) and B(3,3).
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Component Form:

Magnitude:

Direction:

Example 4. Graph the standard position then find the
magnitude and the direction of CD =<2,6>

Y

PoA

Y5 B T b S

Magnitude:
X 2 = 2 2 4%2
2ot +3b X-
,\w.‘? = 410

Direction:

With your neighbor, what are the similarities and

differences between Example 3 and 4?
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Using vectors to describe translations

Translation (x,y) » (x+3,y —4)

Can be written in vector form as:

v=<3-4>

Example 1. Graph AABC with vertices A(-3,-1), B(-1,-2) and
C(-3,-3) under the translation v =< 4,3 >. This _means:

T Gy (ke 472
e g, 83,0
| e(-3,-3) > ¢ (1,0)

Example 2. Graph AHJIK with vertices H(-4,4), 3(-2,4) and
K(-1,2) under the translation P =< —2,—1>. This means:

(oft 2, down |

? w(-4,4) — h(-6. 3)
g‘ ) ('3.'43 - ' (-'-l‘?a)

k(-3 = K (-39




